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2A:

i %Q%O%O%HI(Q\B SHAXIA D)
cel clH2HHI(HE XA W) CERE
SA - B GR(31) - HIRAY - BES il &k e HlmS2
NEIC D NS
100,000 x 10K« 122 12,000
-J|EFE 20,0002 754+ 123 18,000
QZ2EIMS(FIHRISEE) 202,320
25104 130, 000214802 * 122 124,800
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~10101 4 15E4018¢
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50,0002 48« 122 28,800
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62 4,369,600& x20H %4 1% 12 42,997
= 3,674,400R 22 +4 1%+ 12 39,772
8= 2,490,800 * 1 *4 1%+ 12 1,226
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O I=HEE 35,520
5 7= 30,0003 *44F «12& 15,840
-8-9= 20,0003 198« 12& 4,560
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“IHAS(AHADIAL)
20,0002 16H + 123 3,840
R2(28 6 73)
10,0002 x7H+12& 840
OEURT 78,966
YRy 50,00020x2124 122 12,600
MBI TR
70,0002 58K x 123 48,720
-ABISX=YIHZ (AR S)
30,0002 33"+ 122 11,880
A 2P BT = 120, 115@ x4 H 123 5,766
[ ESEEEas 1,416
—SAANEER(63)
40,0002 2+ 128 960
-SAMANEER(72)
38,0003 x 1« 12& 456
RS2 R+ 3,600
=3 50,0003 «2ZF 123 1,200
—HE 40,0002 x5« 128 2,400
OHIRRAE 50,0003 x2H« 128 1,200
QA2 2RE 924,929
052 R+ 54,344
-Jt2 3| 9,679
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CHol: o2 H|(SX #HAD (ol @)
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SgZ= 16,136
OFEAHZAHI 140,000 »241H 122 404,880
OBEFIH|(YerH)
713,716,260 x60%*22] 856,460
O IIE 4| 224,952
oo =T 78,280,01921x78%/30x 102 20,353
@t 713,716,260 +86%/30% 10 204,599
02 JIEtA == 948,131 1,079,669 131,538
OBFAIZIIM (AlRH R IRl E ) 687,094
®|=2 497,620
-AI2HA U HIIDIRI(0HD)
1,166, 76221102 » 128 140,012
~SHAIIIH (95)
1,712,200 x178 128 349,289
-HMEH 489,300,240 %1. 7% 8.319
L PIESSEt 16,560
- Xt 40,0002 * 182 * 122 8,640
SEICD ) 20,00021* 112+ 122 2,640
SEIE ) 60,0002 +32* 128 2,160
-XHA (AR 01 4) 100,000 x2H 122 2,400
-JIEDHS 20,0003 x3& =128 720
S+gR4y 7,761
-AIRb R4S 80,8352 +82* 128 7,761
QA2 2R 57,014
@I A ZAlL| 140,00021%27% » 122 45,360
L RS 2,000,0002!* 182 36,000
L RIS 26,779
=0z 140,011,4402 4. 5% 6,301
-UESE 624,310, 710& %1.85% 11,550
—CHA T 28 624,310,710&1.43% 8,928
oxuA 256,295
oJl=s 192,162
300144303 2)
4,239,500 +3&~ 12 152,622
-15E0/12+H(3& =)
1,816,000« 1H 122 21,792
~H M & 174,414,0002 % 1. 7% 2,966
-2 14,781,587 «100% 14,782
=4y 2,400
-8 <Xt 40,0003 %3+ 123 1,440
REIS ) 60,0002 +12§* 128 720
SIEDIE 20,0002 +12§x 128 240
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cel QE2YHI(Ha #IXAL) (CHe: )
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
QT 2B (FIRIZEE) 4,680
250 & 130,000 x3Z= » 123 4,680
oz=n4g 360
] 30,00021* 12+ 122 360
L YRR 27,997
[ ZBERE] 140, 0002 #4212 6.720
L EEESIT 14,781,586 2 x60+23] 17,738
L RN 14,781,567 86%/30x 102 4,238
ONERHILS(BAZE)
256,291,892& *1.85% 4,742
204 AR AY| 531,644 541,252 A9,608
02 As2X| 531,644 541,252 A9,608
©4= 400,0003x 19+ 122 4,800
O53 250,000& x10F =123 30,000
O=1 175,000 82 » 12& 172,200
or= 165,0002 57 H 123 112,860
©8 - 9= 155,0002 91123 169,260
OAIIH 34,364
O AIZHEERIZ DN (OHS)
72,5003 «8F 123 6,960
O@SHAIDIHI(9T)
126,870 *18H + 12& 27,404
oy¥AZFE 8,160
@300 4t 175,000 3B+ 122 6,300
@23 0|0t 155,000& x1H + 122 1,860
34 HA2RE3S 1,035,814 1,049,199 A13,385
2 FAHAEEHZ 1,035,814 1,049,199 13,385
O=01AHUBERYZ
26,397,958, 078& *3.495% 922,609
OLIRIQABEREZ
922,608,635 *12.27% 113,205
IHARIH(HE? =) 11,759,087 11,987,433 A228,346
101 21244l 11,264,267 11,535,513 AN271,246
01 B 11,264,267 11,535,513 A271,246
oJl2=s 8,591,392
Q=N 1,314,414
5= 6,731,464 165+ 12& 1,292,442
-X I &I 1,292,441,088&*1. 7% 21,972
@ BHE 6,717,210
62215 2) 4,002,200 x50 = 12 2,833,558
72(738) 2,518,500& x43H x 12& 1,299,546
-83(558) 2,075,500 498 « 12& 1,220,3%4
93((258) 1,709,600& 618+ 12& 1,251,428
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032+ 559,767 ,377&*100% 559,768
o= 1,429,168
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-15E0[ A& 204 0(2t
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